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3 dEzol 2l
Rl UoIE 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S otd el 29,460,742 29,027,378 433,364
= 21,232,888
== 8,217,854
= 10,000
MEZOH 2l 7,774,334 6,556,829 1,217,505
= 4,624,438
< 3,149,8%
oz 2el 6,591,777 4,981,317 1,610,460
= 4,156,000
= 2,435,777
SEIHHRES W=7 1,110,448 1,596,828 A\486,380
308 AtXIEHMSOIE 1,110,448 1,5%,828 486,380
(VZeSESIME =1 1,110,448 1,5%,828 486,380
OZMERY=S 1,110,448
SHQIHER NS WR 38,589 38,589 0
308 XtXIEMSO0IE 38,589 38,589
2 d+uFs 38,589 38,589
OsdgiER = 38,589
A2 MRS ZXAIE X X2 4,387,120 3,211,600 1,175,520
= 3,538,000
& 849,120
403 AXIEHMSA=Z0l1d 4,387,120 3,211,600 1,175,520
= 3,538,000
= 849,120
01 XIS A =2 4,387,120 3,211,600 1,175,520
OAAEZ AIEE SXAIE £X X3 4,387,120
= 3,538,000
= 849,120
INREC D) 24,300 94,300 A70,000
201 er23| 24,300 94,300 A70,000
01 At2teltl 24,300 94,300 70,000
Ostefotmaie] 2 Ws & 28 S 14,800
OStStAtD o&8 SR RAl2el 9,500
SHBIEAMSE D=kl 40,000 40,000 0
307 212+01& 40,000 40,000
02 LB HANHEE 40,000 40,000
OS2 (SHBEAEE) JI=XT 40,000
ASUIol =HEXS AEIEAF & L0 7 225,000 0 225,000
207 ARl 225,000 225,000
01 H1E4H] 225,000 225,000
OASUlch =HAIS AEfXAL & SHOF
oo 225,000
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SAANGE ASES XA 124,000 0 124,000
= 100,000
== 24,000
403 X MSAH=0lH 124,000 0 124,000
= 100,000
< 24,000
01 A= 2L 124,000 0 124,000
OSAANEY H2HE XA 124,000
= 100,000
= 24,000
IIASHI(GP) D] HEXFAY 642,320 0 642,320
= 518,000
=S 124,320
403 MR SHHMSAH=01H 642,320 0 642,320
= 518,000
< 124,320
01 A= 2L 642,320 0 642,320
ONASEI(GHP) W] WEXIZ ALY 642,320
= 518,000
= 124,320
s$E2g 2el 1,182,557 1,575,512 A392,955
= 468,438
= 714,119
SHLIEAIE 22 22,700 28,928 N6,228
201 Eer23 | 10,200 10,200 0
2 352484l 10,200 10,200 0
O EANE B2 2SXHe 28 S 10,200
202 04t 8,500 13,728 Nb,228
01 =LHOHI 8,500 13,728 N5,228
O ZMEANE B2 =N 8,500
301 EetE NS 4,000 5,000 21,000
14 0Bt 2a3 4,000 5,000 21,000
ORIZtetAC M 2tel tHEEA 858 2,000
OstZd AN (128) ZaZ 2,000
= US| X1 - 2g2eld] N 450,000 310,080 139,920
= 300,000
< 150,000
402 2I”FXH=0I & 450,000 310,080 139,920
= 300,000
& 150,000
02 QI XHE AL E R (01X THE) 450,000 310,080 139,920
OZ2SJJAZAHA == 450,000
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= 300,000
=S 150,000
=& UGSFEHID| 4X1 - 2F2eldl X 252,657 385,104 A132,447
= 168,438
< 84,219
402 212+ X+=01E 252,657 385,104 A132,447
= 168,438
= 84,219
02 RIINEASEZ(0IETHR) 252,657 385,104 A132,447
O=HAAZAMA += 252,657
= 168,438
= 84,219
SMSIATIRHE 2E(20HEEXR) 317,300 338,500 21,200
307 elztol & 317,300 338,500 221,200
02 2B YA HE X 317,300 338,500 N21,200
OFg =MIAAMEH 28 At 317,300
NESd atZatel 66,400 278,400 212,000
201 ger=2 3| 66,400 66,400 0
01 AtR2t2|HI 54,400 54,400 0
OAMsFAF At 24 30,400
ON=SFaSZ 2l Al=a i XA 24,000
2 35244l 12,000 12,000 0
OAMSRded et 28 12,000
SHFEXAIE EXHE X2 73,500 94,500 221,000
403 MR HHMSAHE01H 73,500 94,500 221,000
01 AXISHHA 22 % 73,500 94,500 /21,000
OSHSAAIE X0 XI&H 73,500
HYIE2 2tEH Xl & 2el 21,615,308 22,399,449 AT84,141
= 16,608,450
s 4,9%,858
= 10,000
HII=2l e Xel & 2el 21,615,308 22,399,449 AT84,141
= 16,608,450
= 4,99%,858
= 10,000
OHEIXl Sl At 154,000 23,100 130,900
= 140,000
= 14,000
403 AXIEHHSAH=201d 154,000 23,100 130,900
= 140,000
= 14,000
01 AR A =2 £ 154,000 23,100 130,900
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33 o= o8N Ml & 2l
ool HolZol 9EEFe U 2l (choy: @2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHI I MO X ZHI(MAH) 154,000
= 140,000
== 14,000
AZAIE EX 12,590,633 10,901,500 1,689,133
= 11,143,000
= 1,447,633
403 AXIEHMSA=201E 12,590,633 10,901,500 1,689,133
= 11,143,000
= 1,447,633
01 AIXISHHA2EE 12,590,633 10,901,500 1,689,133
a2tAIE EX 12,590,633
= 11,143,000
=S 1,447,633
M3 =dE X 3,837,599 5,303,890 1,466,291
= 2,544,000
& 1,293,599
403 AXIEHMSA=Z0l1d 3,837,599 5,303,890 1,466,291
= 2,544,000
= 1,293,599
01 XISHHA =2 E 3,837,599 5,303,890 1,466,291
OdE TS| =dH &X 3,137,599
= 2,544,000
= 593,599
OdEHIIZ HEAIE SUAI 700,000
ZEMHHIE =H24= 795,900 772,000 23,900
= 397,950
= 397,950
308 AtAIEHMSOIE 795,900 772,000 23,900
= 397,950
= 397,950
01 AXEH B EES 795,900 772,000 23,900
OsZHHlIE =H24= X 795,900
= 397,950
= 397,950
Hol2+ 2 KNASHIOEEXIH) 235,326 235,326 0
308 AHXIEMSOIH 235,326 235,326
12 JIEetR8s 235,326 235,326
Os%eld 3=AIY 253 235,326
Stdok Meldl Hat 685,085 611,517 73,568
= 582,000
= 93,085
= 10,000
308 AXIMSOIA 685,085 611,517 73,568
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= 582,000
T 93,085
g 10,000
01 XX B E LS 685,085 611,517 73,568
Oot&Edt7 M0 BstAtS 685,085
= 582,000
& 93,085
£ 10,000
SSTOHE &S 181,050 222,744 A41,6%4
= 106,500
& 74,550
403 REXISHHS K201 & 181,050 222,744 A41,6%4
= 106,500
T 74,550
01 HXISHHAEER 181,050 222,744 AN41,6H4
O=ssHotE &5 181,050
= 106,500
= 74,550
M&= sulote &X 887,250 643,500 243,750
= 682,500
& 204,750
403 REXISHHIS K201 & 887,250 643,500 243,750
= 682,500
& 204,750
01 AXISHHAE2ER 887,250 643,500 243,750
ONg= sulotg &X 887,250
= 682,500
T 204,750
NA=8 At =4 1,165,965 1,370,486 A204,521
201 LBt2AY| 93,000 90,500 2,500
01 AR2teld| 85,500 85,500 0
OX e gEFH g8 60,000
OsE: SSH2AIE dX £ Has a4
3 =8 S 25,500
02 2224l 7,500 5,000 2,500
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203 PYR=&IH| 2,565 2,565
03 A FAIHRFAIH| 2,565 2,565
Oostgae| g2 2,565
303 ZAS 27,500 44,000 16,500
01 L& 27,500 44,000 A 16,500
O3 EE =01J| & 0|3 Z& 27,500
308 AXIEHMSOIN 499,000 694,405 A195,405
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01 XN B2 LS 499,000 694,405 A195,405
SEMHDIS =128 & FHl A2 300,000
O0r0| A S NEIDIX| WS dE=
H X& 150,000
OO0tats FF M| Ml X3 9,000
OZ2cItiE 243t Alg2A XA 15,000
onMge o2 M= - X2 25,000
403 MR HHMSAHE01H 543,900 399,016 144,884
01 A= 2L 543,900 399,016 144,884
OdgM | tHES2E Selat At 140,000
OEANXS SA=FHII= 28| NE 21,900
OSHHiE ZAIANAE 25 100,000
OMEEBSUIDIE SREI2A LXI(ZUEO
) 150,000
OAMNA&EAL HIOIROIASIAIE EEE €0
EXIA 100,000
OMI| BHE AISIADHS CHLHEE JIZ - X
el 32,000
Hes3 SEML XA 162,500 495,936 A333,436
= 162,500
308 XM SOIE 162,500 495,936 A333,436
= 162,500
01 XN BSEES 162,500 495,936 A333,436
oNgss dEd F2 Aa2cl=0 A
2 162,500
= 162,500
A0S HE ZXIXIE 550,000 1,819,450 1,269,450
= 550,000
403 TR M SAH=01H 550,000 1,819,450 1,269,450
= 550,000
01 MHXIHHA 22X 550,000 1,819,450 1,269,450
OHCHAl MESHIH £X 550,000
= 550,000
HEAE S& £ &3 370,000 0 370,000
= 300,000
= 70,000
403 AXIEHHSAH=Z01d 370,000 0 370,000
= 300,000
= 70,000
01 XISHH A =2 370,000 0 370,000
OlEAE S & &#5(23) 370,000
= 300,000
= 70,000
dF2LIH(eFerE 22| 71,100 71,100 0
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